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NAME

YOU MUST SHOW WORK ON ALL PROBLEMS TO RECEIVE CREDIT.
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2. (15) Solve by Laplace transforms y” + 5y’ - 6y = 34(t — 2), y(0) =y'(0) = 0.
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3.

(10)
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&

For the Sturm-Liouville problem

y'+dy=0 y(0)=0, y'(1) =0,

(a) find the eigenvalues. %ﬁm}\ Q,Q SO(AAT\JM P
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(b) In the same order as the eigenvalues are listed above, give corresponding eigen-

functions.
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4. (20) Let f(z) be a 27 periodic function such that

0 <<
— i,
f(@) {1 I<z<m ¢
-n Al

Find the Fourier series for f(z) both in the real trigonometric form and complex form.
(The next page is blank in case you need extra paper to show work.)
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5. (20) Let

x 0<z <l
f(=) = { 0 otherwise.

Compute the Fourier cosine transform of f, and the complex Fourier transform of f.
(The next page is blank in case you need extra paper to show work.)
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Fourier cosine transform
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6. (10) Given that the Fourier series for f(z) = z/2 for —w <z <7 is
o0
1
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